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No. of Questions : 120

gyl @t HEAT : 120
Time : 2 Hours Full Marks : 360

wAY ; 2 ¥U2 qurfs : 360

Note : (1) Attempt as many questions as you can. Each question carries 3

(Three) marks. One mark will be deducted for each incorrect

answer. Zero mark will be awarded for each unattempted

question.

aiferepiTre W9t @ B T Bl WA HL | TAS 9T 3 ()
3 FH B F@® AT SUY P R @F A FIer ARl

Sedeh STTIT W9 &l HIddih ¢ EF |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

i UHIieeR Jfeaes 9T de! 397 & ehe Udld &, df Freredd
a8l 39T |

01. Urdu belongs to :
(1) Iranian family of languages
(2) Indo Aryan family of languages
(3) Dravadian family of languages

(4) Munda family of languages

3 P.T.O.
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03.

3¢ B T 8

(1) aeft s givEe 4 (2) ZUSi-@rEa Wl et o

(3) afas 9l grea 4 4) TUET AmEr qivay v

. Santhali belongs to .

(1) Indo Iranian familv of lunguages
(2) Indo Aryan family of languages
(3) Dravadian family of languages

(4] Munda family of languages

el g T o

L

(3) afaz wmr giar 4 (4) HUST | o 3

The total number of Scheduled Languages in Indian Constitution are

(1) 24 (2) 22
(3) 18 (4) 13
e wfaere § gy smerslt @ de ¢
(1) 24 (2) 22

(3) 18 4y 13

(1) 29S0T wmr ofE] @ (2)  sve-ofrEE | wiRer A



04.

05.

06.

18P/238/24(i}

Konkani is mainly spoken in and around :

(1) Goa (2) Uttar Pradesh

(31 Andhra Pradesh (4) Bihar

FiFofl oIS Y WA H FE S 7 A FHD AT A Al 2

(1) T (2) TIIT HI9
(3) Y U2 (4} TaBr

Sinhalese i1s :

(1) Indo Aryvan Language (2) Dravidian Languaage
(3] Andamanese (4) Munda

feeeft ® -

(1) ZUEI-3AET AT (2) afgs sm™

(3) 3FsHF (3 ISt

Out of the list given below, which one is an Indo Aryan Language @

(1) Arabic (2) Persian
(3) Urdu (4) Turkish
fpfarfaa § fi9-dt U guer-amds amr & ?
(1) 37 (2) 9IS
(3) 3¢ (4) g

=] P.T.O.
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7.

08.

09.

Kashmiri belongs to :

(I} Indo Aryan Family of Languages
(2) Dravidian Family of Languages

(3) Austro Asiatic Family of Lemguages

(4) Tibeto Burman family of Languages

HIHH TEfad &

(1) gver-stEs «mr 9fEr 4

(2) zfafeas wmur gi@w @

(3) erer-ufymifes W aftar 9
(4] faedr-ads o 9ida? d

Bengali, the best known ol Eastern Indo Aryan Language, is the
National language of :

{1} Pakistan (2) Bhutan

(3) Maldives (4) Bangladesh |

qff zvd) s amelt # ufws, @l Felaieg § oa e
=AY & 7

(1) wifepe H (2) ¥ H

(3) AwEE H (4) aivemasr #

BRAHUI, a major language of Pakistan, belongs to :
(1) Indo Aryan family of languages

(2) Dravidian Family of languages

(3) Munda family of languages

(4) Indo-Iranian family of languages



10.

11.

12.
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Qi & gy T Sgg fhed @t § o

(1) ZoSI-oTE st 9RAax @ (2)

(3) HUeT W9 gRa” d (4)
Languages are primarily meant for :
(1) Printing (2)
(3) Writing 4)
auratt @ rafies ST B

(1) BuR (2)
(3) w@T #H (4)
DOGRI is spoken in the state of

(1) Jammu & Kashmir (2)
(3) Bihar (4)
Zrrft fpg Teg § el S 8
(1) o7 -HER (2)
(3) foer (4)
Linguistics is a scientific study of :
(1) Language (2)
(3) Literature (4)
s e e ®

(1) HTST 2)
(3) @res @ (4)

gfafeg war 9fEar 4
ZUSI-2XHT AT 9fE |

Speech

Viewing

EINE R
A |

Uttar Pradesh
Andhra Pradesh

IeT 9SeT
Y U297

Script
Symbols

foafy =
Oeitehl Al

P.T.O.
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13. A human being acquires the knowledge of her /his language -

(1) Since birth (2] by biological reasons

(3] by Society (4) by spiritual reasons

HqTE AT BT S Afd e 2

(1) == 4 (2) g ol o

() @A H (4)  asmenifers wmromi o

14. A person who speaks many languages 1s call=d :

(1) Linguist (2] Polyglot

(3) Monolingual (4]  Grammariai

g AT Al arenr AR Feandr © o
(1) AT, (2 aganri

[

(3) T @) FaEm

. English language belongs to .

(1) Romance (2) Italic
(3) Germanic (4) Celtc
S WA 3EE Gdiya © o

(1) Y (2) gafers

(3) 4R (4) @
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16. The most widely spoken non-English language in U.S.A. is :

17.

18.

(1) Hindi (2) Spanish

(3) Chinese (4) Japanese

JoUHoUo H FANYF Al A it At=-geferst «mm 8
(1) & (2) T
(3) =T (4) T

The main language of Darad is :
(1) Shina (2) Tokhari

(3) Khast (4) Persian
&g el & U@ AT g o

(1) ofFr (2) dr@Erd
(3) wrEl (4) FHIE

Which language is absolutely not used now-a-days ?
(1} Greek (2) Sanskrit

(3) Latin (4) Hittite

ﬁﬁﬁwwﬁlc—@ruﬂaﬁﬁﬁ@?ﬁ?

(1) s (2) HEpd
(3) difest (4) fezerge e

9 P.T.0.
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19.

20.

21.

The official language of Israel is :
(1) Hebrew (2) Arabic

(3} Persian (4] French

TR Y OTHT @
(1) &= (2) ST

—

(3) I (4) A

Which language is not included in the VIII Schedule of Constitution

of India ?
(1) Maithili (2) Rajasthani
(3) Konkani (4) Santhali

At e AR da P sedt TgE 7 aiad T2ét v
(1) A (2) ST
(3) @iwoN (4) Uil

Which one is the most ancient language ?
(1} Avhatta (2) Apbhransha

(3) Prakrit (4) Pali

- grEEEE W 8 7
(1) Adec< (2) HAUHIT

-

(3) M (4) difer

10
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Which one belongs to the First Middle Indo- Aryan stage ?
(1) Asokan Prakrit (2) Avhatta

(3) Maharashtri (4) Magadhi

e ARA ST $ UgH WY @ 9y HeE-df 8 ?

(1) STWBIA S (2) sHEBZE
(3) R (4) =rTE
23, That part of speech which describes the circumstances of an action i
(1) Verb (2) Noun
(3) Adjective (4) Adverb

24,

g grETarT o R e &t afRfefa seriar @
(1) Tspam (2) GE=H
(3) fEemgor (4) Fram faetaor

A grammatical element which cannot form a word by itself is knov

as :
(1) Compound (2) Affix
(3) Word (4) Free morpheme

a7 TR o Sl @d: UF e el a9 dehell, Heel o

(1) FH1d (2) "&4
(3) o= (4) o @ium

11 P.T.
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25. Which Article of the Constitution recognises Hindi as an official

language ?

(1) 343 (2) 320

(3) 310 (4) 363

difre @ PR SrgeRe & ST [EET B T AN T A e i
arer feft & 7

(1) 343 (21 320

(3) 310 (4) 363

26. Which is not a Tibeto-Burman language ?

(1} Bodo (2} Kuki

(3) Maitei/Manipuri (4}  Mundari

FH-oF AT faese-awi A8 & 7

(1) arsr (2) I
(3) HAZ AP (4) HeT

Identify the odd one from the following :
(1) Pictograph (2) Ideograph

(3) Logograph (4) Calligraph

12
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29,
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= 9 U 99w & gegH
(1) FEEeEmE (2) sfEgmEms
(3) Heileheld (4) e

Bihari dialects have developed from :
{1) Brachad (2} Magadhi

(3] Shaurseni (4) Ardha-Magadhi

Frerdt aiferat @ 2ad faed gam o

(1) ar=s (2) HTTER
(3) Qqza (4) FH@-ATT

Arbitrariness mecans :

(1) There is inherent connection between form and its meaning.
(2) There is personal connection between form an its meaning.

(3) There in no inherent connection between form and its meaniny.
(4} None of the above.

Fripemen &1 a2 8 ¢

(1) wT@aq T Iud ofd & "o gra=af &1 Gwifed & |

(2) @& T Jab A4 F A AR TGS B

(3) TEY 3T IEH 31 § T Gl wT gmied F9 B

(4) IugaT H q ®g TRl |

13 P.T.O.
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30. The system of animal communication is different from himan

31.

language, because :

(1)
(2)
(3)
(4)

Animals do not think.
Human language is generative and infinite.
Animal communication is imitative.

Human language changes over a period of time.

W%Wmmmmﬁfﬁﬂwﬁﬁrﬂ%,aﬁfﬁﬁ:

(1)
(2)
(3)
(4)

AT A= qEl Jehdl |

T & ST AT SEed Ud AT ¢ |
STER] 6l o7 ST € |

g AT OHE @ @ry aeendl @l B

Idiolect is the

(1)
(2)
(3)
(4)

Speech variety of a single person.
Speech variety of a family.
Speech variety of a community.

Speech variety of persons of a village.

Zfe W ©

Uk A= & died H e
o qitar & are A fereeT |
%W%ﬁaﬁﬁﬁﬁW|
o Mg & @F @ e 1 faLrer

14



32.

33.

34.

18P/238/24(ij

Brahmi is :

(1) Script (2) Language
(3) Dialect (4) Sub-dialect
(1) fofy (2) AT

(3) @Y (4) IUET
English language is written in :

(1) Gurumukhi (2) Sharda
(3) Roman (4) Arabic
ST Aoy gad foreh o ®

(1) Ts7E! (2) ST
(3) I (4) o

Name the script in which Marathi is written ?
(1) Gothic (2) Devnagari

(3) Germanic (4) Roman

3q fafy @ = oy Sad gud) R srd &
(1) Tifferen (2) FFEETA
(3) ST 4) I

15 P.T.0.
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35. The script of Urduis:

(1) Arabic (2) Turkish
(3) Roman (4) Gothic
3¢ &l fong g

(1) e (2) T
(3) TH (4) T

36. Which dialect of Hindi is known as 'Kaurvi' ?
(1) Khariboli (2) Bundel

3) Bangru (4] Kannauj
{ J

Reft 5 fop el &t ATH ‘@iEl ¥ 7

(1) wgEel (2) gasi
(3) ATTH (4)  eHeISdl

37. Which one of the dialects does not belong to Western Hi b -

(1) Kannauji (2) Bundeli
(3) Braj ~ (4) Baghel
Frer & @ @r-ar aen, aived B & @ e 7

(1) &=t (2) g
(3) =1 (4) @l

16
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38. What is defined as 'the study of sentence structure' ?

(1) Morphology (2) Semantics

(3) Phonology (4) Syntax
e HCEAT T ereAEe e § e ofeafee war ® 7

(1) ol fasm (2) e fasTeT
(3) @Y fasm= 4) a=g fa=rg

39. The writer of 'Language’ is :

40.

(1) Hockett (2) Bloomfield
(3) Gleason (4) Daniel jones
‘A’ D AGH &

(1) &he (2) DR
(3) wHEA (4) f=w o

The renowned work of Panini is known as !
(1) Ashtadhyayi (2) Shiksha

(3) Vyakaran Prakash (4) Dhwanyalok"

qiferfy &7 e @A B
(1) a=TeaTdt (2) favemoer

(3} SATHLOT HehIA (4) TR

17 P.T.O.
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41. Who wrote 'Vakyapadiya' ?
(1) Mammat (2) Hem Chandra

(3) Patanjali (4) Bhartrihari
e’ e e g 7

(1) 7= A (2) TweE A
(3) udsifer (4) et A

42. The study of internal structure of words is known as :
(1) Multiplicity (2) Phonology

(3) Morphology (4) Grammar

qreEt 5 oIl GIEAT o ohgH e & #I Hl B o
(1) @gerel (2) @Y fasTH

(3) wafIsI= (4) SR

43. "Khasi" is mainly spoken in :
(1) Meghalaya (2) Nicobar

(3) Bihar (4) Bengal

“ERfy” gyE w9 g A AR
(1) Hurea & (2) FrepEmT #
3) frew # (4) der H

18
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44, Noam Chomsky believes that there 1s a (n) :

45.

(1)
(2)
(3)

(4)

Basic sentence structure.
Universal use of the word "mother”.

Overwhelming number of elephants in Burma Stimulus-

Response process

Universal Grammar (UG)

g et B P o e e ' 7

(1)
(2)
(3)
(4)

ool gred | |

e (AT 9 & 9% 94T # |
SEg-afafrar afear
A AT |

Devnagari is a scientific script because :

(1)
(2)
(3)
(4)

It is very easy
One sound one symbol
It is beautiful

It is readable

SgemTdl Yenfees ol @ =ifs -

(1)
(2)
(3)
(4)

I 93d © |
o @ & fg g Y Ree

H3¥ 8
T 8

19 P.T.0.
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46. Who framed phonetic laws {rom among the following iingusis ¥

(1) Bloomfield (2) Grimm

(3) Gleason (4) Sapir
=1 | 9 fpg wmaifag A eafs st @ @ 6 7

(1) =EBeS (2) fm
(3) wirE (4) @IT

47. Pidgin and Creole are :
(1) Slangs (2) literary languages
(3) Mixed languages (4) Targons
fafsTr ol fRela &
(1) fRreday (2) wifefds wm
(3) TfEm smw (4] fafere

48, Hindi word for 'Morpheme' is :
(1) Ruptatwa (2) Rupgram

(3) Sanrup (4) Rupim

e & g Bl e R

(1) & (2 =
(3) =W (4) =gy

20
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A%, Lilnd word for ‘Discourse' is :

(1] Prokt (2) Rupim
(3] Vakya (4) Varta
fewmprg’ % form Ed o=z 2 -

(1) iR (2} =

(3) A (4) araf

50. The dictionary of a language can also be called :

(1} Lexicon (2) Grammar
(31 Semantics (4) Pragmatics
gr & 9TEEeRI9T B g ol e el ¢ o

(1) SRR (2) AT

(2 a1 fasma (4) SIS

. Morphology cxplores :

(1) How a word's meaning evolves over time.
(2] In what order words are put in a Sentence.
(3} How a word's spelling evolves over time.

(4) The way a language builds words by putting small, meaningful
units together.

wa s = 8 7

(1) &0 uF 9= F 94 g & Oy e gar 2
(2} UH g ® =l B B e o wEd ¥

(3) HY UFm 9 K O G99 F 9y f[Qtaa B @

(4 o1 9Er # HEer & W d 9= @ BIe =9 $r 9 @ i
ge gffpar frad s 9mr grEt &1 Fgtor e Qs seEar 2
Fdl B

21 P.T.O.
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S52.

S53.

54,

What is the English word for "Svanim - Vigyan" ?
(1) Phonetics (2) Phonology
(3) Morphology (4) Marphemics

‘wirmtast=r & oo ois) 9= | 8 7

Who is considered the Father of Modern Linguistics ?
(1} Noam Chomsky (2) William James

(3) Ferdinand de Saussure (4) Leonard Bloomfield
‘g o fas & S @I § 7

(1) =9 ===t (2) fafeam s

(3) WS T BRGR (4) TS DS

What is the smallest segment of a language that comprises of the

basic building blocks of a language ?
(1) Phoneme (2) Word

(3) Morepheme (4) Sentence

T & T @O B B, Sff 9eT & WA H ST a9 B 7
(1) w@f=m (2) 9T
(3) &= (4) 9

22
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56.

7.
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Ferdinand de Saussure was the founder of :

(1] London School (2) Geneva School

(3) American School (4) Prague School
HEaiE § G 399 GENE 9 ¢

(1) T TR (2) AT T
(3) HYHT e (4) WRT TH

Which language has neuter gender ?
(1) Hindi (2) Sanskrit

(3) French (4) Italian

fre s § wgaes fo e @ 2
(1) & (2) €&
(3) B (4) sfeEs

Tones are used to distinguish identical words in :

(1) Dogri (2) Marathi

(3) Kodagu (4) Onya

Tq W1 § gL B gET g et § ¥ e & fg Bhar S
g

(1) SFTd (2) waS

(3) e (4) sfEar

23 P.T.Q.
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58, One can distinguish between p, t, k, on the basis of :
(1) Voicing and aspiration {2) Place of articulation

{3) Manner of articulation (4) Level of acoustic energy
02 B STIE § Gk BT F UH AL B

(1) ansfT ofiv s (2) @I 2B IEGAT
(3) RET M TSI (4) WA I ITHEEF g

59. Suprasegmental feature is !

(1) Vowel (2) Intonation

(3) Semi-Vowel (4) Diphthong

sifergeTe s FifHeeT € ¢

(1) & (2) Tt
@) o1 W [4) TgES

60. Endocentric, exocentric and appositional are the types

of :
(1) Simple words (2) Complex words
(3) Compound words (4) Free morphemes

Fiaa, Tgdife qun kTS W ¢
(1) WToT STl A (2) TRl B WYE wH
(3) Tafaa ereEi =t (4] @ = A6

24
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62.
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Identify the odd-one among the following

(1) Affixation (2) Compounding
(3} Reduplication (4) Counting
1 & o R{ud af=g @

(1) ifthrae (2) FEEtET

(3) Rgwiteher (@) IO

A word identical in pronunciation with another word of the ~arme

language but different in meaning is called :
(1) Homophony (2) Homography
(3) Homonymy (4) Hyponymy

odr 9T S I=AT H Il 9T & gER 9= & g6 8 fhg o
# farer 21, 39 @ed € ¢

(1) SHEr (2) EHTET
(3) GHATHT (4) ST
From among the following, which word has suffix ?
(1) Krodhit (2) Kuroop
(3) Pratidin (4) Pitambar

Prafafagg # 4 g s A efd gmg & 7
(1) shifera (2) H=T
(3) wfafes (4) drEr=ET

25 P.T.O.
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64. What kind of word Brunch 1s ?
(1) Compound (2) Tadbhav
(3) Hybrid (4) Blend
‘ga’ e g w s T 7
(1) @IS (2) qg¥d

(3) HHT (4) Tafee

65. Syonym of 'Casual' is :
‘BfoTa’ e BT FHAM B
(1} Incidental (2) Temporary

(3) Informal (4) Permanent

66. Which one of the following is SVO in word order ?
(1} Japanese (2) Hindi

(3} English (4] Bangla

Frer wmwistt & Rew smor sresge 9 il -fpargde & 0
(1) S9rh (2) &
(3) SAEsh (4) =\TEN

26
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69,
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Which of the following Hindi word is a mascuiline word ?
(1} Shringar (2) Sushma

(3) Chhavi (4) Shobha

Prefafes § & @9 @1 9= gRET 8 7

(1) 3T (2) guAr

(3) ®M (4) ST
Identify a deictic expression among the following :
(1) That book (2) Come here
(3) Iam smart (4) The book

St § @ sfyes afwaf # geard ¢
(1) 98 & (2) Tl Y
@ % 9@ § (4) T& JEIE

Identify the Adjective in the following words :

(1) Fool (2) Venture

(3) Courage (4) Glorious

27 P.T.O.
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=3 ﬁla}! ﬁ _& ﬁlﬂ[qth 'T}halﬁTfI i
(L. Fonol 121 Venture
(3t Courage (4]  Glorious

oLi o, .

2. From among the following which Plural word s aise nscd fs bmgniar
(it News (&} lTrons

(3t People (4] Practices

P B @ oW o1 AT WY AR 1 RTIR | waa sh

2
i1?  News (2} lrons
(31 People (41 Practices

~i

¢ Cheose the correct spelling -
(17 Perseive (21 Perciev
(3; Perceive (4] persieve
gFE adl Bl adH B
(i} Perseive (23 Peroev

(3. Perceive (4" persieve

28
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72. Which is a correct sentence in the following :

rrfaifEa 8 B o aeg g R

(1) AET S AET A (2) JTEE & sl
3} FIEA VIT (4) HIET A WHEA AT B

75. Which Sentence 1s ambigucus 7
(1] 1 need some rest
(2) Hyderabad is a big city
(3] Flying planes can be dangeious.

(4] The sun rises in the cast

FIF AT g faeredl & ?
(1) ! need some rest
(2) Hyderabad 1s a big city
(3) Flying planes can be dungerous.
(4) The sun rises in the east.
74, Antonyrm of Traitor' is
i1} Patriot (2) Enemy

i3] Reble (4) Conspirator

29 o
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Fer & faem ®
(1) FeTeeRT (2) =

(3) = (4) GEHAHR

75. Find out geminate :

(1) Place (2) Bed
(3) Stone (4) Flower
“Fger’ @1 geEig

(1) &4 (2) sl
(3) eI (4 I

76. Minimal meaningful unit of grammatical structure 1s called .
(1) Morpheme (2) Phoneme
(3) Morph (4] Word

RO AT S @YaH ATE FE ¢
(1) @A (2) @+
(3) &Y (4) =

77. The concept of linguistic typology is based on :
(1) inherited features found in languages
(2) Common features found in same language
{(3) Common features found in most of the languages

(4) Universal features of languages

30
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79.

18P/238/24(i)

Wit aifteseer & SageT F1 erg &
(1) wremsTt H g RALwad grft s ¥

(2) €l AT H @en gy ol s
(3) T |/HI e i # wren R{Awad arh o ¥
(4) wEreT & Afyges RAsteard |

Kurukh is spoken in :

(1) Jharkhand (2) Delhi

(3) Haryana (4) Jammu & Kashmir
‘FHE’ AN A SR 2

(1) =e@es H (2) Rt #

(3) siREM™m H (4) o9 T HIHR 7

'Langue' and 'Parole’ are the concepts of :
(1) Bloomfield (2) Chomsky

(3) Hocket (4) Ferdinand de Saussure

(1) =JAheS (2) =t
(3) Efhe (4) wEAE T g =
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80. What is meant by Taboo words ?

81.

82,

(1) Which are synonyms.
(2) Which are Foreign
(3) which society do not allow.

(4) which are Antonyms

fSta  oTe W T drgd § 7

(1) = qarEaTE g |

(2)

o faReh #

(3) e | wigha 8l 3T (4) o faem 2

Find out the Hindi word whose gender remains unchange :

{1) Macchali

(3} Sunar

(2)
(4)

Dhobi
Hathi

ey oTst B @A @ S 1 R swRafda @ @ o

(1) woel
(8) I

Diglossia is found in :

(1) The Arab world
(3) Switzerland

wror 2d e B
(1) 3T%a gare H
(3) wrestre

32
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(4)

(2)
(4)

(4)

eyl
grefl

Mauritius

Pakistan
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83. The dichotomy of "Competence” and "Performance” was given by :

84.

85.

(I} Saussure (2)
(3) Sapir (4)
i’.l:ml} t{a‘ “ﬁw’? m a-q % .
(1) &R (2)
(3) AIX (4)

The word- order in Hindi is :
(1) Subject- Verb- object (2)

(3) Subject- object- verb (4)
fed] #f greg-sH¥ 41 JS-%H TE ©

(1) -5 2)
(3) HHT-HH-THAT 4)

Devnagari script is ?
(1) Syllabic (2)

(3) Chitratmak (4)

el fifa fre e @ 8 7
(1) STEHSD (2)
(3) FEmeaE (4)

33

Lyons

Chomsky

QIEiRd]
Grehl

Verb- subject- object

Object- subject- verb

FepaT-ahei-a6H
FHH-a-fan

Sutratmak

Bhavatmak

TETe

PtTior
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B6.

87.

88.

The word "Exotic” is ...,.... ?

(1) Noun (2) Adjective

(3) Verb (4) Adverb

“Exotic’ @l “‘QM-AFT F|T & ?

(1) s (2) ferargor

(3) Fepar (4) Fepar farsieor

Which one of the following is a Bound Morpheme in English ?
(1) go (2) play

(3) less (4] and

=1 & & &IF @1 S ®r “awm @i ¥ 7

(1) go (2)  play

(3) less (4) and

The function of vocal chords in preducing sounds is to create :
(1) Aspiration (2) Non-aspiration

(3] Voicing (4) Duration

A & IR § @iEEEl & 96y o

(1) HEHVIdr 39— HLAl (2) SITUHITEAT 309 BT

(3) =19 IeT T (4] W=
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90.

91.

18P/238/24(i]

Dyslexia is a disability which can be explained as :
(1) Writing Disability (2) Disability in comprhension

(3} Genetic disorders (4) Reading Disability

ferfagaT us ST&WdT 2, S 39 U WS gidl ¢
(1) Fres F erema () sg F srerdar

(3) @M H HeTHT (4) e H ITeTT

Hindi 'h' consonant is :

(1) Voiced velar (2) Voiceless glottal fricative
(3) wvoiced plosive (4) Voiceless velar

& @ =9 ®

(1) THEY FHIT (2) STHY HihHed HEHl

(3) &g sl (4) ST FHgF

Choose the correct "bottom to top sequence" from the following :
(1) Word- syllable- Phoneme (2) Phoneme- syllable- word

(3) Syllable- word -phoneme (4) Phoneme - word - Syllable
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e

Fere]
(1)

(3}

. Whic

R R i e e s e o R

§TEE - 3787 2 -TUTH

FR- 9T - A TITH

h is a diphthong ?
| au]

[ W]

i
q

A Hgad @y ar faeas B 7

. Find out the labiodental fricative

36

{2

(4)

(2}

(4)

(2)

(4)

o | = I E R T E R L

STy IH--oTeT - 37aTT

3



94. Which ia a free morpheme in Hindi ?

95,

96.

() -Ta (2)

(3} -A (4

() - ar (2)

(3) - 3 (4)

18P/238/24(i)

=Pr

Ghar

One can distinguish between 'm’. and 'n’ on the basis of -

(1) Point of Articulation (2)

(3) Voicing (4)

Manner of Articulation

Aspiration

7 3T 7 & IH 3N YT T FHT Fg &

(1) S=ARv-#1 (2)

(3) =™ (4)

SAUT-HAeT

U9

In the following two sentences of english which kind of Morpheme is

present : Sheep is grazing . Shecp arc grazing

(1) Replacive (2)

(3} Zero (4)

37
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e 4 28

98.

99,

B GfSf & ardl § wuhy FH S a1 T & 7 Sheep is grazing
. Sheep are grazing.

(1) ofeends (2) WA

(3) gH (4) TSTEH

Which one is not an Articulator ?

(1) Front of the tongue (2) Pharynx

(3) Lower lip (4) Back of the tongue
= |1 enfEmpeet et 8 7

(1) e (2) T

(3) SIS (4) Forgar qe=

Select the word with the correct spelling :

g% adHl arr 2T B TG BT
(1) wesafee (2) HTeSAafId
(3) Soraierd (4) R

When two sounds interchange their place, it is called :

(1) Elision (2} Metathesis

(3) Assimilation (4) Dissimilation
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ﬁaﬁwﬁa‘fﬂwr&w%ﬁa@m%ﬁﬁﬁﬁﬁﬁﬁ%:
(1) =g (2) Frgdg

(3) GHIHTOT (4) fadiesTor

100.What type of word 'Radar’ is ?
(1) Hybrid (2) Deshaj

(3) Foreign (4) Tadbhav

‘TR F9 UhTT T T & 7
(1) H&T (2) 29T

(3) fa=sht (4) g

101.0One of the following charcteristics of a language is wrong :
(1) Language is an ancestral property.
(2) Language keeps on changing.
(3) Language is a soclial phenomenon.

(4) Language is a system of signs,

arar @1 Fr=fafaa Rdvamst & o Teg B o
(1) «ror Ogs® |uie 21 (2) «Ter qReEdsier B
(3) wTET QTS 9% 8| (4) ST gelteR! @ SaEeer ¥
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102.The notion that 'language determines our thought' is attributed o

(1) Bloomfield (2) Robert Lee
(3) Sapir and Whorf (4) Jespersen
ﬁ-mm%‘wmihﬂﬂqwﬁvﬂmﬁ%*mﬁa

-

(1) =IAHRS (2) ad &1
(3] @i o = (4) STOTEs

103.The concepts of "Synchronic" and "Diachronic” are related to :

(1} Hockett (2} De Saussure
(3) Bloomfield [4}- Chomsky
(1) & (2) & @I

(3) &THRS (4) =il

104. Sanskrit 'Chakra’ has become 'Chakka’ in Prakrit due to :
(1) Assimilation (2)  Anaptyxis
(3) Elision (4) Dissimilation
(1) TAHEHETT F LT (2) @Y e & oy
(3) @I & BT (4) TagdieETor & oo
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105.Who said ' 3782w arg: 2

(1) Yask (2) Patanjali

(3) Panini (4] Kuntak

‘Aget Ty @y’ fRae et ?

(1) 4r&E=h (2) SEsTieT

(3) et~ (4) HTH

106.Which is a secondasry cardinal vowel ?

fr & MoT AT S 8 7

(1) [Y] (2) el

(3) o] (4)  [u]
107.01d Indo Aryan languages are :

(1) Pali Prakrit (2) Sanskrit Pali

(3) Prakrit Apbhransha (4) Vedic and laukik Sanskrit

O W o W €
(1) qrfer greper (2) HEEpA i
(3) WTHT STIHS (4) Afew ol afes v
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108. Arrange the following items in a sequence of small 1o larger units and

select answer :

(1} word- morpheme- sentence-phrase
(2) sentence- word- phrase- morpheme
(3) morpheme- word- phrase- sentence

(4) phrase- morpheme- sentence- word

Prefafad sHEal o 812 & a3 & %A § FEiEd Hife i w48
IR gifeg -
(1) SrE-EH-arE- g (2) aTFI-STEE-aERieT-BH

(3) WIIH-LTEE-aTaILT-aTeH (4) aTERILT-EAH- AT - 5T

109. Select the correct sequence, following the order sound to meaning :
(1) morphology-phonology-semantics-syntax
(2) phonology-morphology-syntax-semantics
(3) syntax-morphology-phonology-semantics

(4) semantics-phonology-syntax-morophology

Prafafaa @ omaws 4 o & g 9 J = #ifs
(1) wufEE - AT -t e -

(2) w@fmfas- wafaee-area Gse-ay G

(3) AT -EuasTH - @t Es

(4) rdfasTH-wiFmiRsT g - i
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110. A pidgin becomes a creole when :

111.

112.

(1) 1t becomes a language of education.
(2) it becomes the language of governance,
(3) it becomes the mother-tongue

{(4) it becomes the language of the elite.

o fafsH, dae (BRae) 8 st 8 s
(1) Te famm & 9 8 S 2

(2) UMHAA #H AT B AR 8 |

(3) ATIHIST B SR B

(4) ST F H AT & S

Identify the odd one from the following list :

(1) Phone (2) Allophone
(3) Phoneme (4) Morpheme
Frferfga § o fum &1 FaEg -

(1) &= (2) TEH

(3) w@i=H (4) ®faH
Identify the odd one from the following list :

(1} Word (2) Morpheme
(3} Allomorph (4) Syllable
Frfafaa & & o& auw &l aqasy -

(1) 1= (2) =UH

(3) SUBY (4) STeRTST
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113. Identify the odd one from the following list

P14,

115,

o

fqeifafiae o Q@ uep faud & FdEy

(1

(3}

Syllable

TN

At

(2

(4)

(2)

(4]

Onset

Cardinal vowel

IERE

Hi-lsh a7

identify the odd one from the following list :

fpefafag 8 @ ue fagw @6t Aagd

(1)

(3]

/p/

I/

Code- switching is :

(1)

(3]

bl
i

(1)
(3)

intra-sentential

code-mixing

frafem & -
Ze] AT

44

(2]

(4)

(2)

(4]

(2)

(4)

fi};

[s/

inter-scitonti

bt e L.

FUA T Tl

ELICRTE



116. [n the Pronunciation ot nasalized sounds, the air passes througl; -
L the nasal cavily alone

2] the oral cavitv alone

(3] both the oral and the nasui « avity

(4)  first the nasal and then the oral cavity

IS @l & s d, ear fvq /e @ gordi 3
1) DA AT Y |

(2} herel YT H |

(3) R ST @ A A )

(4) 9B T S 3UH A g™ q |

117.The study of the origin of words, their history and changes i the.r
meaning is
(1) Etymology (2) Morphology
(3] Anthropology (4) Phonology

TeEl B e, TEE giaer dun sud ol § geedt @ HqeLyga B

(1) ogeafe fasme (2) = gy
(3) "G e s (4) afm s

118. Two words in a language which differ from each other by only onc
distinctive sound {one PHONEME) and which also differ i1 MeAtn .

are :
11} Minimal Pair (2]  Similar words
3} Antonyms (4) Synonvms
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119,

120.

o T § A7 9T S U g i B ST S H U € A
arer & o aref # s g B, e €

(1) =19 g (2) THM 95
(3) faen= (4) THETRS

A person who learns a language as a child and continues Lo use it
[luently as a dominant language to identify with a community where
it is spoken is .

(1) Native speaker (2) L1 speaker

(3) L2 speaker (4) None of the abeve

Hq U SAEHI FUYT F Th 9o diEdar @ SR 39 9N Y4 O
iy AT % w9 F dien & SRl g8 Wi it Sl ¢

(1) ¥ ST (2) Uel 1 oKl

(3) TH 2 e (4) Iugdwd 7 4 Fg TE4

Metathesis refers to :

1) Re- duplication of phonemes.

(
(2) Assimilatory change of phonemes.
(3) Interchange of phonemes.

[

4) Duplication of phonemes.

fada B -

(1) eaf=af @1 g SE9 |

(2) @afdr @1 FHIEHT aEad
(3) efal @1 oay ¥ a@eed B |
(4) fat $r SeuEr g

46 600



18P/238/24(i)

ROUGH WORK
% &
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i1.

12.

13,
14.
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